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Smargg lanmss@b slursy uflard cdargn qaTugmen
sflunigms Qerarareyn. sssuufadd Gopdnpuld, Si@ps
sanareflouraflLb oL enwrss Asfadlssa)b.

B Sovg smUy ewvdeer wLEGW TS USDGLD
5 5CaTs DausHED LwETLPFS Cauan(b. LLRSH aaTUSDE

Queardla vwetuBssa.

Sfleyengaen : (1)
(2)

Check the question paper for fairness of printing,. If there is any lack of

fairness, inform the Hall Supervisor immediately.
Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

(2)

Caomawrar @LHED UL aepS). FLETUT(HSEET ET(LPSQLD.

Draw diagrams and write equations wherever necessary.

Gluy :

Note :

u@d -1/ PART - 1

@Oy : () Simensg) Hlamés@né@n AlenLwafl&sa).
Qar@Hésliul_erer IO derascid Baayb ghyeLw

(i)
AL eows CaipOsBhss GO Pan e wleanyn Cerss
TUPSEYLD.

Note : (i)  Answer all the questions.
r from the given four alternatives and

(i)  Choose the most appropriate answe
write the option code and the corresponding answer.

15x1=15
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1.

LQI'GIIITQJ(_TDGUGUIGIJ['D[DJG'IT sNuberrs samp) ol ?

(1) Néa DTEL. [LLDGIBLDUE]G‘J SilewwrssHE DS

(<) et CLaflwb Ul RbTE WanpLiLig. Q”mmurré;a;uu@aﬂmgj_

(@) g Garem. (ZnS) menyllpLL pepmudled oLirn9ss0uHEDS-

(/) BmsHmHL 9N505HEGD 2-Cargeflies e, 2 Coraoreg) Biss Gamig Wb
@Cerrany(®) BDTIMDS g e () Gouds; 5@@.,;@@&19@.

The incorrect statement among the following is :

(a) Nickel is refined by Mond'’s process

(b) Titanium is refined by Van-Arkel’s process

() Zinc blende (ZnS) is concentrated by froth floatation process

(d) In the metallurgy of gold, the metal is leached with dilute Sodium Chloride
solution.

o gurayl) QUL seaT erRSsIE Qehe s G QumeTs LLEMUIHLD 2 Geamaid :

(1) Zn (<) Zr (@) Al () Au
The metal which is used in packing material for food items :
(a) Zn (b) Zr c) Al (d) Au

QL prGurfls slegder Gemguwid il erenug) :

(=) ByHg (<=2},) Na,BO,

(@) HiBO; (r7) Na,B,0,10H,0
Sodium Salt of tetraboric acid is known as :

(@) ByHg (b) Na,BO;

(c) HzBO; (d) Na,B,0,10H,0

25 & gerafled Lep&sanw D_(1h6U IT& (& 6U S Te LenagHenrenil e (hHeursHsL]
vweru(heldl
(1) Gumyréen
(@) QurLrey LigsMLD

is used for producing smoke screen
(b) Diborane

Phosphine

(2y) e GunGyen
(7) umeviSen

as it gives large smoke.

(a) Borax
(c) Potash Alum (d)
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saflvaflos ol Lamandd a’”ﬁﬁmﬁm@amﬂa‘ﬂ sflwrer @LLD :
() Qar@d eraim 3 wpmid ullens erepr 4

(<) Az erar 6 wHmD ufles erayr 3

(@) QOsrEd e 4 wimbd afles erer 4

(7)) Qsnsd erain 3 whmd euflens erer ¢

The actual position of Lanthanoids in the Periodic table is at :

(@)  Group number 3 and Period number 4

(b)  Group number 6 and Period number 3

(©) Group number 4 and Period number 4
(d)  Group number 3 and Period number ¢

PEUY whmd Ap@eer (fac-mer) LIHPALRsman QubPBILE eray ?

(<) [Cofen); P (%) [Co(NH3),Cl,]*
(8) [Co(NH;)3Cl3] (%) [Co(NH;)5C1]SO,
Fac-mer isomerism is shown by :

(@)  [Cofen);]** () [CoNHy),C1,]*
() [Co(NH3);Cl3] (d) [Co(NH3)sC1]SO,

Cur@eTenow saréegy (BCC) siemwlndar Qurdleys e -

(1) 52.31% (=) 68% (@) 86% (FF) 52.13%
Packing efficiency of Body Centred Cube (BCC) :
(@) 52.31% (b) 68% (c) 86% (d) 52.13%

@ eilmander eflenarGeus wrhlallufen wdiy 5.8x10-2%~1 aiefenamular
cllerarauens :

(=) o uens () UBW auens

(@) QrerLmd aies (FF) epermmd euens

The rate constant of a reaction is 5.8 x10~%s~1. The order of reaction is :
(a) First order (b) Zero order

(c)  Second order (d) Third order

[ 8mlys / Tum over
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11.

H,O wmmw HF 2 EW Oiprarev L @femsader @Gmmasrr[rréjaaeﬁ :
(1) (penpGu OH™ ppid HFH™ o fuser

() peopCu HOT opmd B~ pdlwiar

(@) wperpGu OH™ wpmd F~ A flwier

() oGl H,0* whmd HFt oy fluier

Conjugate base for Bronsted acids H,O and HF are :

(a) OH~ and HFH" respectively

(b) H30+ and F~ respectively

(c) OH™ and F~ respectively

(d) H;O* and HF* respectively

AS < 0 whmib TAS erdlig wlieul Qub GUTS |

(1) urliy seUTEE @ Qeutiu 20l Qewed @m@wn@m.
(@) 2-MGaEsD @ Claunu 2 Bl Qewe aperpWTEL:
(@) urly sarsd @0 Qautiu Qsrmer Qawied pePwELD:
() 2 flgase @ ey Qarer Qswed uperPUTGLD.
When AS < 0 and TAS is negative :

(a) adsorption is exothermic
(b) absorption is exothermic
(c) adsorption is endothermic
(d) absorption is endothermic
Ndelwbser AsTGUY pepuied Frgisen surfssiu@n Curg efleerri
DS @orrana)@ rHubeugl v

(1) E; eflenan auflperd (<2) S2 eflenar auflapenp

(@) Syl clear aufiep@D (F) E, cflevar auiflapeny

In the preparation of ether by Williamsons synthesis using primary alkyl halide involves *
(@) E; mechanism (b) Sy2 mechanism
(¢) Syl mechanism (d E mechanism
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12, Gereu(md lenaneufengud e aﬁlmmaun@m Z -mé sanLh&. aTopenmulls

13

PCl CeH 1) CH. Mg
sy —— > Xty y D HMghr
Hrmm AICl (ii) H,0*
(1) (CH,),C(OH)CgHs (=) CH,CH(OH)C4Hs
CH,OH
(@) CH,CH(OH)CH,CHs (%)

Predict the product Z in the following series of reactions.

PCl; CeHg (i) CHMgBr
Ethanoic acid —> X > —>Z
Anhydrous AlCl, (i) H;O
()  (CH,),C(OH)CgH; (b) CH,CH(OH)C¢H;
CH,OH
() CH,CH(OH)CH,CH, (d)
CH, NH
' Na
CHyCH, - C=EN+CHy ~CN > CHaCH, ~C~CH-CN
CHj
Cunsear allaanurag e SiwssLIuBEDS.

(<21) Gty (Thorpe) epLee GMbseilanar
(<) Qenauen LHmIb Ganarsi <ifl e Capp allene
(@) Qavryr-wraiGs allenar
(F) LT FMé&s edevar

CH, NH

| Na
CH,CH, - C=N+ CHy— CN ——> CHyCH,—~C—~CH-CN

ether I
CH;

The above reaction is :
(@) Thorpe nitrile condensation
(b) Levine and Hauser acetylation

() Lederer-Manasse reaction
(d) Aldol condensation

[ miiys / Turn over
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15.

M&Cmreda GTG'OT[D (?MEML_I_LL“GOI @GD[DUITI:_@ (BlhITll’J GJ'!i]LJL—é" HITEssTLD -

(1) @aLflar B, (<) encuiiiblenr By
(@) ean_Luwlar B; (m) eveut_Liblén By
Cheilosis is a Vitamin deficiency disease caused by :

(n) “Vikuminb (b) Vitamin By

(4 Ve, (d) Vitamin B

EpssaLaupenpll QUTHSSS.
Soefri® SOars SpHél

(1) &dw wer ewHiubsSser (i)

eréliiy (HHSISET
(2) auell Hleuryenflser (i) (@ rmrGLITeaLImTed
(3) NSAIDs (i) @Gmrra:rremu@

(¢) Aeref Qurg 2 ewiailply eaEdlsar (iv) <y cvilfen

(<=1) (1) - (i), (2) - (iv), 3) - (@), (4) - (i)
(<=1) (1) - (i), (2) - (i), (3) - (i), (4) - (iv)
(&) @ ) - (i), (3) - (iv), (4) - (iii)
(/) (1) - (iv), (2) - (i), (3) - (@), 4) - ()
Match the following.

(1) Major tranquilizers @) Non steroidal anti-inflammatory drug
(2) Analgesics (i) Propofol

(3) NSAIDs (iii) Clozapine

(4) Intravenous general anaesthetics (iv) Aspirin

(@) () - (i), (2) - (v), (3) - () (4) - ()
) (- G) (2 - (), @) - (i), @) - W)
© ()- G) @ - @), @) - @) @ - {)
(@) @) Gv), @ - (i), @) - @) 4 -0

)
)
).
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_ | U@&S - 11/ pART - 11
61(35@“‘0 @‘b@] Gﬁ]m”&&@&@) Gﬁlml—-u_lﬂﬂ.{iid}iﬁl_“b. aﬂaﬂﬂ‘ GTEFET 24 —é.@

sL_Lnwions elewallssa)ib. 6x2=12

cl S [~ . (..it.l 0 4 C

QeneumauaTaIDeD SEBS -STTRhS @ _cr ofleréES-

(=) saflwés ey (=) 556
Explain the following terms with suitable example
(@) Gangue (b) Slag

anelwgsl e Lenseend S(Hs.

Give the uses of helium.

Qe EQgmEe QGaTOBISET ETEmNE) crave ?

What are Interstitial compounds ?

AHruQummaflen HevgCumriiyuiay (Isotropic) wHmid SemFEwruy
Lerumbmene (Anisotropic) Gaumu(H5815.
Distinguish between Isotropy and Anisotropy in solids.

=[y]=0.2 M eremm Sanarfer alenanGeusLLTRTS)

r+2y o eflepar@umser, [1]
0K -& eleaGausb 2x1072s71,

1x10-3 mol L=1s~1 erauid Gurgl, 40
@ euallenemudlen P QAL Aepanauamae s SemLpls.

The rate of the reaction x+2y — product is Ax10~3 mol L~1s7L, if [x]=[y]=02 M
and rate constant at 400 K is 2X 10-2s~1, what is the overall order of the reaction ?

0.1 M Spaienw CH;COONa sanpeeler pH Hrndenen sansHHs. (CH,COOH

oufsdan pK, wdli 4.74)
Calculate the pH of 0.1 M CH;COONa solution (pK, for CH;COOH is 4.74).
faflarrenc &Crrellenms ereuelTm) rhpieuml ?

Convert glycerol to acrolein.

[ @wLiys / Turn over
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23,

24,

25.

26.

27.

28.

29,

30.

L0 Blisetlen Q]}tu:ﬁjlﬁigp{h{!-‘h L1hhl (ﬂ,[f;ll'ﬂ_l G,
Write a note on denaturation of proteing,
Cu,Cl,/HCI (or) Cuylbiry/HBr - §ath iy R T AL AT

gwrfloumis 7
How is aryl halide prepared by using C L,/ HCI (or) Cuybry JHBr 7

LA - 11/ PART - 111
aGaamin 20! Bl e G5 @H5E oy _wiefl s o).

sU_Lmuiona cAenweflzsab,
Answer any six questions, Question No, 33 is Compulsory.

Lennr aremt 33 -6
6x3=14

p - Qarghls pefloisdls (ppd gallwjssdn (eI LG LY (G .57

EMeATEIEET wWreney 7
What are the factors responsible for the anomalous behaviour of first element of the

p-block ?

3d euflensudér ergpeflon +1 24485 Cenhy Hawmen s Qaranarens). ger ?
Which metal in the 3d series exhibits +1 oxidation state most frequently and why ?

2 GfALd enwliuseald sramiu@b 2 Gars Smamasd wHpb Siggeen

2 Cors siwaismeans GHUEGHE.
Mention the metal complexes and its metal ions are used in biological system.

ffler swefll QuUmEED ey, SHeD Qeautiuflenenid Sigen wilonus

5(H&.

Define ionic product of water. Give its value at room temperature.

Blermeno Coiomhpd erenpra) crenan 7 o THE55ETH 505

What is inversion of phase 7 Give an example.

Quelles’ seysdr Corganaren clen&E5.
Explain Benedict's solution test.
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SuaEsaiar eulflued psdugsq,: , ;
§ sl oD @m[ﬂmm T(LDH,

Write any three biological importance of .. .
1pids,

{@Gmnbf&:’m GreueuTm) gjlumﬂé;asuu@@m@ ;

How is neoprene prepared ?

2 pbElwi L&@TGG?TW';L_‘?#’@%@; Garan®, Ao bl Crl sepysnang) 30
Bl Rs @& @@W”?U@UU(QQ.‘DQJ aafle) erfipenanulle SIpUIgeITELD
Hoeufier Hlevpeows SeRTL_Dl5.

A solution of silver nitrate is electrolysed for 30 minutes with a current of 2 amperes.
Calculate the mass of silver deposited at the cathode.

U@ - IV/PART - IV

S|ETSS AamésEnsEEh el weflése,b. 5x5=25

Answer all the questions.

sefloh wHNID sTH BHwuauphde Guwrer GeaumurHser

(=) @
wrensy ?
i) @Garmilen, @efliihs NaOH wppd GLrTe NaOH 2. Le yflyw,
AeansEpéaren sEUESSILLL FwaTUTHE®S &(HS.
NNV
(=) () &radledls QsMLyT&EsD erennmed Gremmen ?
(i) Gapmedid apenendlediCiume und GHILY euenTs.

What are the differences between minerals and ores ?

Write the balanced equation for the overall reaction of chlorine with cold

NaOH and hot NaOH.
OR

(b) (i) What is catenation ?

(i) Write a short note on Holmes Signal.
[ HLys / Turn over
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35.

36.

(<) Qeuiranic Qemarersudla GHTI_ U aseamer TQBIE
@lﬁ’hﬁ\)ﬂ
(=) () egm & @mg)um'.qsmm eﬁ]m&@&_
i) Spsscr doasld edrar gaalmmGas orpHlen s samTLHS.
(A) CH3COOC2H5+H20 - CH,COOH +C,H50H
(B) 2AsH; = 2As+3H,

(a) Write the postulates of Werner’s Theory.,
OR

(b) () Explain Schottky defect.
(i) Identify the auto catalyst in the following reaction.

(A) CH;COOC,Hs+H,0 - CH,COOH + C,H;OH

(B) 2AsH; — 2As+3H,

(1) () 2O Gsu;g‘,]eﬁlsﬁ)muﬁlsh Geussms eNen anGoud T 6Telel T
urdéflpg) eremLams THsgIEET_HLen elaTEES.

() GereumeuaTaDED il ojflew, g sTyLb eran euanaILHSSIS.

(A) BF, ® co, (O Mgo (D) CHy

9|60608)

QprenevL FaTUTLOLS &([HelEsa]D.

the effect of catalyst on reaction rate with an example.

(<)
(@ () Explain

(ii) Classify the following into Lewis acids and Lewis bases.

(A) BF; (B) €O, (©) MgO (D) CH;

OR

Derive an expression for Nernst equation.

(b)
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38.

(=1) ()

(i)

(<=4) )

(a)

(b)

(i)

(i)
(ii)

(i)
(i)

13 4172 (Ns)

LTOUS Saufigamal) urdl&@mn sryenilsamen Quwifl @ a.
maiaaflen gy, g af@RGapmn LHH eflardds.

S|V 60!
Cuuwiflenr sryeefll sremréd eremar 7 @@ LwenuB s wisglena
CTAIUTY ergmar-1, 2- DL QT wrHpIeUTis ?
er s@uurasd aaary S@d  priasdldop
CamuBdamear ?
Name the factors affecting adsorption.
Explain auto oxidation of ethers.

OR

What is Baeyer’s reagent ? How
ethane-1, 2-diol ?
How do antiseptics differ from disinfectants ?

it is useful to convert ethene to

(=) LT Gnés elmanuier afaarauflipenerwl eT(ps)s.

(=) ()

(@)
(b)

(i)

(i)

(i)

M|
Bl Crr Quendemar Gareumn CETMDESATE eh&gL Gurg
LweTL@D @HEED sraflaaiea uwismans GOUEHaE.
(A) Sefladen
(B) YGewend evaml yréSlaiben
(C) enpLgGer CQuenéen
sHE eram@erTl ellepaTen 6T(pGIS-

Write the mechanism of aldol condensation reaction.

OR

Name the reducing agent used in the reduction of nitrobenzene to the

following compounds.

(A) Aniline

(B) Phenylhydroxylamine
(C) Nitrosobenzene
Write mustard oil reaction.

-000-



